ST. LANDRY PARISH	PLANT ENTERPRISES PRODUCTION
-------------------	------------------------------

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		2,282.0	875.00	1,996,750	lbs.	\$898,538
Cotton (Total)	*	2,282.0				\$898,538
FORESTRY						
Pulpwood						
Pine				595	cords	
Hardwood				8,247	cords	
Pulpwood (Total)				8,842		
Saw Timber						
Pine				91,946	board feet	
Hardwood				4,026,854	board feet	
Saw Timber (Total)				4,118,800		
Total Pulpwood, Chip & Saw,						\$2,391,491
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,464,382
(Total)						
Forestry (Total)						\$2,391,491
FRUITS						
Blackberries (Total)	*	1.0	250.00	250	pints	\$438
Blueberries (Total)	*	0.5	750.00	375	lbs.	\$600
Strawberries (Total)	*	1.0	1,000.00	1,000	flats	\$10,000
Fruits (Total)		2.5				\$11,038
FEED GRAINS						
Corn (Total)	38	9,736.0	130.00	1,265,680	bu.	\$2,771,839
Grain Sorghum (Total)	65	14,892.0	56.00	833,952	cwt.	\$2,985,548
Feed Grains (Total)		24,628.0				\$5,757,387
GREENHOUSE VEGETABLES						
Tomatoes (Total)	*	3,000.0	4.44 Yield / sq. ft.	. 13,320	lbs.	\$16,650
Greenhouse Vegetables (Total)		3,000.0				\$16,650
HAY FOR SALE		-				
Grass (Total)	60	8,000.0	5.00	40,000	tons	\$2,400,000
Hay for Sale (Total)		8,000.0				\$2,400,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Home Gardens (Total)	11,000					\$2,860,000
NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$600,000
Nursery Crops (Total)						\$600,000
PECANS						
Improved (Total)	15	200.0	50.00	10,000	lbs.	\$13,000
Native (Total)	250	900.0	50.00	45,000	lbs.	\$40,500
Pecans (Total)		1,100.0				\$53,500
Rice (Total)	65	25,098.0	60.00	1,505,880	cwt.	\$10,616,454
Soybeans (Total)	68	70,605.0	30.00	2,118,150	bu.	\$12,518,267
SUGARCANE						
Raw Sugar (Total)	12	15,465.0	3,240.00	50,106,600	lbs.	\$6,148,080
Molasses (Total)		15,465.0	97.00	1,500,105	gal.	\$315,022
Sugarcane (Total)		15,465.0				\$6,463,102
SWEET POTATOES						
Canning (Total)				49,613		\$99,226
Fresh (Total)				60,638		\$894,411
Sweet Potatoes (Total)	*	350.0	315.00	110,250	bu. (50 lbs.)	\$993,637
VEGETABLES						
Beets (Total)	*	0.3	50.00	12	doz. bunches	\$84
Broccoli (Fresh) (Total)	*	2.0	100.00	200	cartons (20	\$4,000
					lbs.)	
Cabbage						
Fresh	*	3.0	100.00	300	sacks (50 lbs.)	\$2,700
Cabbage (Total)		3.0				\$2,700
Cantaloupe (Total)	*	2.0	130.00	260	cartons (40	\$4,680
					lbs.)	
Cauliflower (Total)	*	1.0	150.00	150	cartons (20	\$3,000
					lbs.)	
Cucumber						
Fresh	*	3.0	150.00	450	bu. (50 lbs.)	\$8,100

VEGETABLES						
Cucumber (Total)		3.0				\$8,100
Eggplant (Total)	*	1.0	150.00	150	bu. (33 lbs.)	\$3,000
Irish Potatoes						
Fresh	*	3.0	150.00	450	cwt.	\$15,750
Irish Potatoes (Total)		3.0				\$15,750
Mustard (Fresh) (Total)	*	4.0	600.00	2,400	doz. bunches	\$16,800
Okra (Fresh) (Total)	20	20.0	250.00	5,000	bu.	\$150,000
Peppers						
Banana	*	0.5	200.00	100	bu. (25 lb.)	\$1,500
Bell	*	3.0	250.00	750	bu. (28 lb.)	\$15,000
Peppers (Total)		3.5				\$16,500
Radish (Total)	*	0.3	16.00	4	doz. bunches	\$28
Shallots (Total)	*	1.0	1,100.00	1,100	doz. bunches	\$7,700
Snap Beans (Fresh) (Total)	*	1.0	50.00	50	bu. (30 lbs.)	\$1,500
Southern Peas (Fresh) (Total)	*	2.0	50.00	100	bu. (24 lbs.)	\$2,500
Squash (Fresh)						
Yellow Squash	*	1.5	150.00	225	bu. (45 lbs.)	\$4,500
Zucchini Squash	*	0.3	150.00	37	bu. (45 lbs.)	\$740
Winter Squash	*	0.3	110.00	27	bu. (45 lbs.)	\$405
Squash (Fresh) (Total)		2.0				\$5,645
Sweet Corn (Fresh) (Total)	6	30.0	500.00	15,000	doz. ears	\$52,500
Tomatoes (Field) (Total)	8	5.0	500.00	2,500	lugs (20 lbs.)	\$50,000
Turnips (Fresh) (Total)	*	3.5	435.00	1,522	doz. bunches	\$10,654
Watermelon (Total)	*	5.0	125.00	625	cwt.	\$5,000
Vegetables (Total)		92.5				\$360,141
Wheat (Total)	15	5,903.0	65.00	383,695	bu.	\$1,258,520
TOTAL ALL PLANT ENTERPRISES						\$47,198,723
	FISHER	IES & WILDI	LIFE ENTERPRIS	ES PRODUCTION		

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE							
Crawfish (Farm) (Total)	125	12,250	Acres in Prod.	9,187,500	lbs.	\$5,053,125	
Catfish (Farm) (Total)	*	250	Acres in Prod.	1,000,000	lbs.	\$700,000	
Aquaculture (Total)						\$5,753,125	

ST. LANDRY PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Crawfish (Wild) (Total)	30			158,277	lbs.	\$97,230
Freshwater Finfish (Total)	24			1,502,307	lbs.	\$334,714
Freshwater Fisheries (Total)						\$431,944
MARINE FISHERIES						
Crabs (Total)				24,035	lbs.	\$15,878
Marine Fisheries (Total)						\$15,878
Fur Animals (Total)				353	pelts	\$3,424
Alligators (Wild) (Total)				832	ft.	\$24,975
HUNTING LEASES						
Waterfowl (Total)	25	10,000	No. Acres		acre	\$500,000
			Leased			
All Other Game (Total)	50	150,000	No. Acres		acre	\$1,050,000
			Leased			
Hunting Leases (Total)						\$1,550,000
TOTAL ALL FISHERIES & WI	LDLIFE ENTERPRISES					\$7,779,345

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Gross Farm Number of Units of Total Units of Animal Value **Producers** Production Production Measure **CATTLE & CALVES** Steer Calves 300-400 lbs. 2,698 head \$1,438,263 400-500 lbs. 2,218 head \$1,342,145 500-600 lbs. 646 head \$424,477 600-700 lbs. 95 head \$70,000 Steer Calves (Total) \$3,274,885 Heifer Calves 2,688 head \$1,257,379 300-400 lbs. 400-500 lbs. 2,223 head \$1,216,125

CATTLE & CALVES 500-600 lbs. 600-700 lbs. Heifer Calves (Total) Yearling Cattle					head head	\$400,281 \$59,305 \$2,933,091
600-700 lbs.				247	head	\$1,525
700-800 lbs.				171	head	\$1,141
Yearling Cattle (Total)						\$2,667
Cow-Calf Pairs (Total)				3,306	pair	\$3,237,004
Cull Cows (Total)				1,286		\$509,713
Cull Bulls (Total)				480	head	\$445,464
Cattle & Calves (Total)	456	12,730	No. Cows			\$10,402,823
DAIRY						
Dairy Cows						
Milk	*	225	No. Adult Cows	2,550,874	pounds	\$410,181
Bred Heifers				3	head	\$5,400
Cull Cows				61	head	\$36,600
Bull Calves				104	head	\$5,200
Breeding Age Bulls				2	head	\$2,400
Dairy Cows (Total)						\$459,781
Dairy (Total)						\$459,781
HORSES						
Brood Mares						
Race Horses	36	270	No. Brood Mares	270	head	\$2,160,000
Show Horses	30	48	No. Brood Mares	48	head	\$192,000
Recreation Horses	300	2,150	No. Brood Mares	1,075	head	\$1,612,500
Brood Mares (Total)						\$3,964,500
Stud Fees						
Race Horses	90	360	No. Stallions	360	mares bred	\$900,000
Show Horses		48	No. Stallions	40	mares bred	\$60,000
Recreation Horses		550	No. Stallions	900	mares bred	\$450,000
Stud Fees (Total)						\$1,410,000
Race Horses (Total)	90			360	head	\$4,320,000
Show Horses (Total)	30			48	head	\$240,000
Recreation Horses (Total)	550			900	head	\$1,350,000
Horses (Total)						\$11,284,500

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
SHEEP					
Wool (Total)		1,000 No. Shear	red 6,000	cwt.	\$1,500
Slaughter Lambs (Total)			810	head	\$128,739
Feeder Lambs (Total)			110	head	\$8,558
Show Lambs (Total)			5	head	\$1,500
Stocker Sheep (Total)			35	head	\$2,625
Cull Sheep (Total)			480	head	\$26,400
Sheep (Total)	60	1,000 No.Breed	ing		\$169,322
		Ewes			
GOATS					
Show Goats (Total)			6	head	\$1,350
Slaughter Goats (Total)			225	head	\$24,413
Stocker Goats (Total)			30	head	\$2,595
Cull Goats (Total)			60	head	\$3,600
Goats (Total)	8	225 No. Does			\$31,958
SWINE					
Show Pigs (Total)			8	head	\$2,280
Slaughter Hogs (Total)			3,800	head	\$496,470
Culls (Total)			840	head	\$141,120
Swine (Total)	35	No. Sows			\$639,870
TOTAL ALL ANIMAL ENTE	RPRISES				\$22,988,253

ST. LANDRY PARISH \$77,966,321